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@ (x-y-1)*=x>+y*+1-2xy-2x~2y
@ (a+b)?*(a-b)?=a*-2a?b* + b*

® (—x+3)3 =x%-9x% +27x - 27

@ (a-b)(a®>+ab-b*) =a*-b*

® (p-D({P*+D(p*+1)=pt-1
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O (x+1)(x-x+1)=x3+1
@ (a+2b-3c)* = a2 + 4b* + 9¢2 + 4ab — 12bc — 6ac
® (x+2)(xP-2x+4)=x>+38

(xQ—xy+y2) (x2+xy—|—y2) =x4—x2y2+y4

@
® (x-1) (x+1)2=xt-2x2+1



4. (a-b-c)*E &7 AN AL?

@ a® + b? + ¢ + 2ab + 2bc + 2ca
@ a®+ b? + ¢ - 2ab — 2bc — 2ca
® a?-b% - % —2ab - 2bc - 2ca

@ a® + b% + ¢ - 2ab + 2bc — 2ca

B a2 =b%2=0c24+9ab - 2bc — 2ca



5.  xt+ytz=4, xytyztzx =1, xyz =24 ©, (xy+yz) (yz+zx)(zx+xy)
o) g Toh?

@D 16 @ 8 3 4 @ 2 B 1



6. (x-2y-3)°< A7kl xof st A0 2 Fajalr?

D x? + 4y? + 9z% — 4xy + 12yz — 62x
@ x% —4xy+4y? — 9722 + 12y7 — 6zx
® x% - (4y + 62)x + 4y? + 12yz + 972
@ 4y* +12yz+ 922 + (—4y - 67)x + x2

® 922 + 4y? + x?
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a* =34
P={2+a)
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O 22 -1
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@ 23241 ® 231 -1

31
@ 231 11 ® 217 _1



10.  (4+3)(4> +3%)(4* +3%) (4% + 3%) & 3] sha?

® 48+ 38 @ 415 _ 315 @) 415 4 315

@ 416 _ 316 @ 416 + 316
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